Electric router 011002-01-01 230V
C=OWN

CT11002 VERSION:08 DATE:20170801

92 93 90 77

58 59 26
¢ /ﬂ OCD 503
e 501
B)| B

64 62 61
9%6—=84 8
23




CT11002

1 34704100101 BuHT 7
2 30016300101 Mopowisa 1
3 34736800101 Camope3\ST4X16F 2
4 30016800101 3almTHoe orpaxaeHue 1
5 35201200101 MpyxuHa 7
6 34715800101 BapallKoBbI BUHT 6
7 34744300101 MpyxunHa \P4X38 2
8 30013800101 ApanTep nbinecoopHUKa 1
9 32804900101 | CTovika 2 1
10 35202300101 MpyxunHa \P4X38 1
11 32601000101 PerynnpoBoyHas raika 1
12 30016500101 Wwanba 1
13 34743000101 CronopHoe konbuo \®@14 1
14 30016400101 Lanba 1
15 30017000101 | Tpybka 1
16 32805500101 BUWHT perynupoBayHbIn 1
17 34713600101 CronopHoe konbuo anst ana\®9 1
18 30019400101 Lanba 1
19 34713500401 CronopHoe konbuo anst Bana\®8 1
20 30016600101 | Tpybka 1
21 35202400101 MpyxuHa 1
22 34714800101 CronopHoe konbuo P20 1
23 32804500101 | Crtouka 1 1
24 42000901401 PurpmeHHasa Tabnuyka 1
25 30009600101 MnacTtukoBas Tpybka 1
26 36400701801 BblkntovaTtenb 1
27 34716200201 BuHT 1
28 33703000101 | Ynop rnyOuHbI 1
29 34401200101 | CranbHon wap \ ®4.7 1
30 33703800101 Basa 1
31 30016900701 Pyuka To4Hon PerynunpoBku 1
32 35211700101 MpyxuHa 1
33 33419400101 Kpbllwka nogwmnHuka 1
34 23849700101 | Axopb 1
35 35401900201 Lapukosbi nogwmnnHmMk\6900.2 Z 1
36 32003400201 | Oemndbep nogwimnHmka 1
37 30020000101 | OdednekTtop 1
38 30016200101 Hanpaenstowas 1 1
39 30016100101 Hanpasnswowas 2 1
40 34736600301 Camope3 \ST4X14C 4
41 36600301101 Perynatop o6opoToB 1
42 37000405901 LHyp 1
43 34736100101 Camope3\M4X10 3
44 20001600901 | PerynsTtop rmyOuHbl 1
45 20002200101 Ykasatenb Ha4yana otcyeTa 1
46 42000600101 LWkana 1
47 33703600101 LWrok 1
48 34708400201 Kpyrnas ranka 1
49 34716300201 BuHT 1
50 35402000201 LapukoBbii nogwmnnHMk\6904.2 Z 1
51 32806500101 [NbinesawmTHas KpbILLKa 1
53 21700200101 LlaHra 12mm 1
55 30025900101 Kopobka npoBoaa 1
57 33410500101 [nactnHa 1
58 34716100101 Py4yka 1
59 00084500101 Pyyka (R) 1 | Mo3.59,72 noctaBnstoTcsa B cbope
60 00084500101 | Kpbiwka pyykm (R) 1 | Mo3.60,71 noctaBnswTcsa B cbope
61 20001700101 KHonka G1oKMpOBKU LUNMHAENS 1
62 35202600101 [MpyxuHa 2
63 34731100201 | Camope3\ST5X40C 4
64 33704000101 DUKCUPIOLLNIA KPOHLUTENH 1




65 34734000301 | BuHta\M4Xx12 2
66 33703900101 LLNT npoMexXyTo4HbIN 1
67 35201500101 MpyxuHa 1
68 32811200101 MefHbI cTepXeHb 1
69 22200500102 3aXnMHoWM pblyar 1
70 34716500201 CTonopHbIn 6ont 1
71 00084500101 | Pyuka (L) 1 | MNo3.60,71 noctaBnstTcs B cbope
72 00084500101 | Kpbiwka pyyku (L) 1 | No3.59,72 noctaBnsatTcs B cbope
73 34763800101 | Camope3\M4x14 4
74 32602000101 BTynka 1
75 34737100101 | Camope3\ST4X30F 1
76 34730000301 | BuHT\ST4X70C 2
77 34716400201 | BuHT 2
78 34727400301 | BuHT\ST4X10C 2
79 23634600101 | Crartop 230V 1
80 30015501701 Kopnyc asnarens 1 | Mo3.80,82 nocraenstoTcsa B cbope
82 30019500801 | Kpblwka 1 | No3.80,82 noctaBnsatTcs B cbope
83 30023200101 Kpbilwka gepxarens weTku 2
84 36203000501 | YronbHas weTtka\7X12X15 (230V) 2
85 30022100101 LLleTkogepxatenb 2
86 34727900201 | BuHT\ST4X14F 13
87 42000801801 Haknewnka 1
88 30010400201 dukcaTop WHypa 1
89 32002300201 PykaB WwHypa 1
90 30014100201 Py4yka TOYHOW perynupoBku 2 1
91 30016000201 3aaHas Kpbllwka 1
92 30014000201 Py4yka TOYHOW perynupoBkm 1 1
93 32004900101 Pe3nHoBbIN WTbIpb 1
94 34714800201 CronopHoe konbuo ans Bana ©20 1
95 35202900101 | Knema 2
96 34720200201 Camope3\M4X12 3
99 36803400201 KnemmHas konogka 4
100 | 32600300102 | Brynka 1
501 33411100101 Hanpaensowiasa BTynka 1
502 33420000201 ["aeyHbIN KoY 1
503 32809300101 HanpaenstoLias 2
504 | 34707400201 Wnunbka 1
505 | 34736200201 BuHT ¢ noTariHon ronoskon\M4X6 4
506 | 34704900101 | Wan6a\®8 2
507 34710300101 LWanba npyxuHHasa \ ©8 1
508 | 33411800101 MnactnHa 1
509 30008200101 HanpaenstoLias 2
510 33409300101 napannesibHas HanpasnsawLLas 1
511 20001900101 [epxatenb HanpaBnsAwLLEN NNaHKn 1
512 | 34704900101 | Wan6a\d6 2
32822500101 uaHra 6 mm 1
32801000101 uaHra 8 mm 1




